
Jerry Greer's Engineering - 1940 Chief - Sidecar Tub

Ref Part # Qty Description Price

Page 1               Created On: 04/27/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Sidecar Tub

Ref Part # Qty Description Price

1 102224 1 FRONT BODY SUPPORT ASSEMBLY, currently
unavailable

2 JG-4762 1 FRONT BODY SUPPORT currently
unavailable

3 207216 3 BOLT, 3/8''-24 X 1.375''(Hex) $4.00

4 922008 13 WASHER, 3/8'' Split Lock; Cad Plated $0.75

5 606012 9 NUT, 3/8''-24(Hex); Cad Plated $0.75

6 102223 1 FOOT REST $14.00

7 207007 4 BOLT, 1/4''-28 X .500''(Hex) $2.75

8 922006 10 WASHER, 1/4'' Split Lock; Cad Plated $0.75

9 606008 4 NUT, 1/4''-28(Hex); Cad Plated $0.75

10 JG-4790 1 3 PIECE NOSE TRIM, includes fasteners, 2" spacing between the trim $300.00

11 JG-3369 1 REAR MOUNTING PLATE, $40.00

12 102225 1 REAR BODY SUPPORT currently
unavailable

13 207213 4 BOLT, 3/8''-24 X 1''(Hex) $3.25

14 207219 4 BOLT, 3/8''-24 X 1.750''(Hex) $4.25

15 JG-4694 1 SPARE TIRE BRACKET, $20.00

16 JG-4760 1 TIRE MOUNT GASKET $14.00

17 75669 1 OUTER TIRE MOUNT BRACKET $195.00

18 207217 1 BOLT, 3/8''-24 X 1.50''(Hex) $4.00

19 41560 1 PIN, $28.00

20 927024E 1 WASHER, $24.50

21 603012 1 NUT, 3/8"-24(Slotted); Cad Plated $5.25

22 JG-4763 2 SEAT HINGE, $80.00

23 37127 2 BOLT, 5/16''-18 X 1''(Carriage); Cad Plated $4.75

24 922007 2 WASHER, 5/16'' Split Lock; Cad Plated $0.75

25 605110 2 NUT, 5/16''-18(Hex)Cad Plated $0.75

26 920006 4 WASHER, 1/4'' Flat; Cad Plated $0.75

Page 2               Created On: 04/27/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Sidecar Tub

Ref Part # Qty Description Price

27 JG-3480 4 NUT, 1/4''-20(Hex) $0.75

28 JG-4820 1 RUBBER TRACTION MAT, V-Rib covers floor, 24X48 Black $165.00

29 JG-4897 1 SEAT POSITIONING, holds seat in place, includes all hardware currently
unavailable

30 603016 4 NUT, 1/2"-20(Castle) $6.50

31 636208 4 COTTER PIN, 1/8" X 1" $0.50

32 JG-5243 1 UPPER SIDECAR TRIM, 3 piece, includes Trim bolt kit $650.00

Page 3               Created On: 04/27/2024 - Copyright 2024 Jerry Greer's Engineering


